£ N
Atronic

Great Games Great People

Atronic Cashline™ WBC

Parts Catalogue

WBC Upright Cabinet
with TFT Monitor

L
L

L &
<< 4 ¢'1“¢.“£ “

Rev. 2.0

June 2006 www.atronic.com




N

H i
Great Games Great People

ReLEASE INFO

Atronic Cashline™ WBC

Parts Catalogue

for WBC Uproght Cabinet with TFT Monitor
Rev. 2.0

Rel. June 2006

© 2000 - 2006 Atronic. All rights reserved.

June 2006

WBC Cashline™ / Parts Catalogue



é CONTENT
Great Games Great People

June 2006

CabinNBE .ovve e 4
LOGICHOX i 5
PoWer SUPPIY ..vvveeeeeeiieeeece 6
MaINAOOP .eeee e 7
Billdoor for GPT ACCEPLOrS .....ovviieiiiiieieiieeeeeaa 7
Accessories for GPT ACCEPEOrS ......ovvvvvviviiiiieiiiennn, 8
Billdoor for JCM ACCEPEONS ...v.vvvviiiieiieeieeieean 9
Accessories for JCM AcCeptors .........coccevevvvvinnennn. 10
BUEEONS e 11
COINENERY oo 12
Coinplate InnerDoor) .......ccoovviiiiiiiecee, 13
Square Top Assembly .......cooeviiiiiiii 14
Round Top Assembly ... 15
Low Top ASsembBIlY ...cooviiiiii e 16
Brackets ......oooiiiii 17
Toplight (Candle) .......cocovviiiiiie e, 18
SUZOHOPPE i 19
Wiring Diagram ......cooiiiiiii 21
CabIES .vieii e 22
Boards ... 22

WBC Cashline™ / Parts Catalogue



<
Atronic

Great Games Great People

—_——

CABINET

RAR

s
e |

S
e
)

S
‘®
\

,
/
/
/
/
|
|
,
;
/
/
|
|
|
|
]
‘
? W
v
8 [ha— &

>0 é ‘000

0 [0}
P0OS SAP-No Nomenclature Comment
1 65018815 Switch Lock S2D321 QA / R2001 Audit key switch, transport lock
2 65018816 Switch Lock 52D321 BA / R2002 Jackpot key switch, transport lock
3 65003380 Index plate Audit / Jackpot
4 65002097 Bush, Elevator
5 65002436 Spindle for elavator bush #03
6 65007537 Screw, M4x8 DIN7500/965
7 65010631 Touch Connector Bracket
8 65012427 Button Push Honeywell 2DM409 double pole
9 65037177 ASP HO Coin Bowl Black Twilight-Chrom #10 Black Twilight
65010013 ASP HO Coin Bowl Chrom-Chrom #10 Chrome
65011170 ASP HO Coin Bowl Gold-Chrom #10 Gold
10 65004679 Cable DH-Suzo/Asahi 24V w/AMP Connector
11 65038975 Cable shielded MMPC board / Touch Included in 65042697 ASP MD TFT Kit 17" EB #02
12 65042873 Pwr Supply BAM 80W 11-13V no_PFC Included in 65042697 ASP MD TFT Kit 17" E8 #02
65006020 Adhesive Tape twin-sided Included in 65042697 ASP MD TFT Kit 17" EB #02
13 65024278 Cable Earth C. #01 UL Tyco 1337671-2
14 65003271 Meterglass with Mirror Foil
15 65008801 Counter Impulse Assy Hardmeters assembly
16 65025763 Cable Counterb./Key1/Door-Switch -WBC

June 2006

WBC Cashline™ / Parts Catalogue



<
Atronic

Great Games Great People

—_——

LocicBox

no

June 2006

SAP-No

65025962
65038972
65032446
65027466
65025198
65023743

65003017
65001050
65012427

Nomenclature

PCBA Backplane CL STD #21 r02
PCBA Master Board CL STD #31 r02
PCBA Graphicboard CL STD #41 r05
PCBA Graphicboard CL STD #25
PCBA Soundboard CL STD #22 r03
PCBA Commboard 68K 2.10 r08

Lock Cyl. 5/8" R1005 WBC
Logic Box, Guide Rail
Button Push Honeywell 2DM409 double pole

Comment

Graphicboard with Geode ™ GPU
Graphicboard with Texas Instruments® GPU

(optional)

(optional)

WBC Cashline™ / Parts Catalogue



Great Games Great People

Power SuppLy

No o b~ow

June 2006

65025281
65011515

65038594

65003070
65005584
65006485
65023540
65005734

Nomenclature

Power Supply Vastec VI-250W-24-ATX #01
Cable Power for Line Filter 230V, 3.5m

Cable Power for Line Filter 115V (UL, 3.5m

Line Filter Corcom 5VB1 5A,120/250

Harness Power Supply Bl w/Switch 64350-1
Cover (powerboard-pvc) WBC-AUS

PCBA Powerboard CL STD #30 r01

Cable Power, Power Supply / Powerboard CL #02

Comment

Power supply incl. power switch

Incorporates two cables - from mains to line filter and
from line filter to power supply, 230V Euro plug version
115V (UD) plug version

Included in 65025281 Power Supply Vastec ...
(optional)

WBC Cashline™ / Parts Catalogue



<
Atronic

Great Games Great People

—‘ Mainboor / BiLLboor GPT

13

12
P0OS SAP-No Nomenclature Comment
1 65042697 ASP MD TFT Kit 17" E8 Complete TFT assembly with cables and power supply
2 65040173 Touch Ctlr 3M 17--8421-221 Assembly of touch screen and touch controller,
included in 65042697 ASP MD TFT Kit 17" E8
3 65038975 Cable Shielded MMPC Board / Touch Included in 65042697 ASP MD TFT Kit 17" E8
4 65042667 Cable Harness Backplane / Touch Power Included in 65042697 ASP MD TFT Kit 17" E8
5 65043849 Seal Closed Cell 10x5mm HOSTRA ZK-120 Maindoor seal
6 65007460 JCM / 1BS ACC. Locking Mechanism T1 Use with GPT® & JCM® acceptors
7 65015332 IBS / JCM ACC. Locking Mechanism T2 #01 Use with GPT® & JCM® acceptors
8 65015333 IBS ACC. Locking Mechanism T3 #03-WBC Use with GPT® acceptors only
9 65002102 Hinge, Video chrome #01
10 65001348 Screw, Metal 4.2x9.5 DIN7981F
1M 65024278 Cable Bonding 8 150 RT 5 RT 5 01
12 65008212 Main Door w/Pult Video chrome #07 Chrome, with desk
65018213 Main Door w/Pult Video BITw #07 Black Twilight, with desk
13 65003017 Lock Cyl. 5/8" R1005 WBC Shipping lock
14 65011340 Desk, BlTw (video) #03 Desk (Pult) for main door #07, Black Twilight
65006970 Desk, chrome (video) #04 Desk (Pult) for main door #07, Chrome

Billdoor for GPT® acceptors (Note: Billdoor for JCM® acceptors listed on page 9)

WBC Cashline™ / Parts Catalogue

15 65013513 Acc. Panel Lower IBS (Glass-DG)

16 65013510 IBS Validator Face plate chrome WBC #02 Chrome, with lock / Use with POS 19, 65013505
65013511 IBS Validator Face plate BITw WBC #02 Black Twilight, with lock / Use with P@S 19, 65013507

17 65015980 Glass Acc. above - AST/WBC#01

18 65006676 IBS Acc. Supporting Angle IBS WBC

19 65001371 Nut M4 SKT BN1365 Combi

20 65013505 IBS Acc. Frame+Bracket+ Axle chrom WBC #04 Chrome / Use with POS 15, 65013510
65013507 IBS Acc. Frame+Bracket+Axle BITw WBC #04 Black Twilight / Use with P8BS 15, 65013511

June 2006 7



/
At

ronic —
Great Games Great People

Accessories for GPT Acceptors

GPT AccePToR

- &
\
A\
79
POS SAP-No Nomenclature Comment
1 65017917 IBS Validator Cage Video
2 65001371 Nut M4 SKT BN1365 Combi
3 65005647 Springshackle
4 65005169 IBS Validator Guide Angle
] 65001348 Screw Metal 4.2x9.5 DIN7981F
6 65002371 Washer 4.2x15x0.8 BN783 Type DD
7 65007537 Screw M4x8 DIN7500/965
8 65003147 Washer M4 DIN9021
9 65002577 Telescopic Chassis
10 65001408 Rivet 4x6mm DIN7337A
1M 65005170 Harness Duct (IBS)
12 65005177 IBS Acc. Mounting Bracket
13 65006651 Lock Cyl. "Bi-Lock" FA32279QCP Housing
14 65014674 Enclosure GPT Argus
15 65005646 Nipple M4
16 65005214 Harness IBS Acceptor (Video)
17 65006652 IBS Connector bracket #01
18 65014676 Cable IBS - G3 Argus Cable for GPT® Argus™ (G3) acceptors

June 2006

WBC Cashline™ / Parts Catalogue



<
Atronic

Great Games Great People

e —

BiLLboor JCM

oo b~ow

O w oo~

12
13

June 2006

SAP-No

65014072
65014073

65013514
65013515

65015980
65017398
65034615
65001371

65007456
65007457
65007455
65001367

65007460
65015332
65015334

Nomenclature

JCM ACC. Frame+Bracket+Axle chrome WBC #02
JCM ACC. Frame+ Bracket+ Axle BITw WBC #02

JCM Validator Face Plate chrome WBC #02
JCM Validator Face Plate BITw WBC #02

Glass ACC. above - AST / WBC #01

Decal-ACD IBS-JCM "INS BILL" WBC / AST #02
ASP MD ACC Glass Bottom #02

Nut M4 SKT BN1365 Combi

Bezel JCM frame Plastic
Distance Sleeve
Push-plate

Nut Hex M4 DIN934

JCM / 1BS ACC. Locking Mechanism T1
IBS / JCM ACC. Locking Mechanism T2 #01
JCM ACC. Locking Mechanism T3 #02 - WBC

Comment

Chrome / Use with POS 2, 65013514
Black Twilight / Use with POS 2, 65013515

Chrome / Use with POS 1, 65014072
Black Twilight / Use with PBS 1, 65014073

Use with GPT® & JCM® acceptors
Use with GPT® & JCM® acceptors
Use with JCM® acceptors only

WBC Cashline™ / Parts Catalogue



/
At

@
ronlc ﬁ JCM ACCEPTDRS
Great Games Great People

Accessories for JCM Acceptors

%0
\w

N\
P0OS SAP-No Nomenclature Comment
1 65007504 JCM Adapter bracket
2 65006074 Board Adapter JCM
65033949 PCBA JCM-Adapter CL STD #01 New revision #01
3 65001371 Nut M4 BN1365
4 65001370 Nut M3 SKT DIN895
] 65003747 Lockwasher M3 Self Locking
6 65007457 Distance Sleeve
7 65003215 Screw, Flstr, M4x6 DIN7985A
8 - -
9 65001348 Screw 4.2x9.5 DIN7981F
10 65007477 JCM-Bracket #01
11 65007594 JCM Cam #01
12 65007545 Lock Cyl. 5/8" WBC / R29901
13 65007596 Tube Chrome JCM
14 65007593 JCM Switch Bracket #01
15 65012427 Button Push Honeywell 2DM409 double pole Cashbox switch
w/opic 65007524 Cable Ribhon, Backplane - JCM Adapter Int. #03
w/opic 65010689 Cable Power Supply JCM Atronic Interface
w/opic 65008967 Cable, JCM Acceptor
w/opic 65007627 Cable, JCM Cashbox-Switch
w/opic 65007537 Screw M4x8 DIN7500/965

June 2006

WBC Cashline™ / Parts Catalogue



<
H'l'l'onlc —‘ ButTons

Great Games Great People

&7

1
|
|
1
|
1
|
1
|
1
|

i

A spare button consists of
- 1 button base with LED
and switch (Pos. 4 or 9),
- 1 plastic legend (Pos. 2 or 7]
- 1 lenscap (Pos. 1 or 6]

' - ! Drawing shows
. ? i | ol m— USRB-style panel
INFO LINE LINES LINES LINES LINES A REPEAT . .
IR with english decals.
o o | L] Leos] Qeteonel Lol 1 & Lfe=r] | Other styles and
PER LINE PER LINE PER LINE PER LINE PER LINE|

languages are

available.

w

June 2006

SAP-No Nomenclature
65013354 Lenscap RCT-SM clear

65020475 Pl. Legend RCT-SM "Max Bet 27 Credits"
65020055 Pl. Legend RCT-SM "Max Bet 45 Credits"
65031399 Pl. Legend RCT-SM "Max Bet 63 Credits"
65020297 PI. Legend RCT-SM "Max Bet 90 Credits"
65031318 Pl. Legend RCT-SM "Max Bet 210 Credits"
65038372 Pl. Legend RCT-SM "Max Bet 525 Credits"

65031277 SP BP MECH_LED 12V white Sub. clear lens

65029376 Btn RCT-SM wolCwoPIwLED

65033827 Switch Push Cherry DB 5 G B1 BA

Rectangular Lenscap, clear

65020056 PI. Legend RCT-SM "Gamble"

65018760 PI. Legend RCT-SM "Repeat the Bet"
65018758 PI. Legend RCT-SM "Win 1 Way"
65018758 PI. Legend RCT-SM "Win 2 Ways"
65035654 PI. Legend RCT-SM "Bet 15-25 Credits"
65035653 PI. Legend RCT-SM "Bet 15-50 Credits"
65035652 PI. Legend RCT-SM "Bet 15-100 Credits"

Spare LED, included in Pos. 4 and Pos. 9
Rectangular button with LED and switch,
without lens cap and plastic legend

Spare switch, included in Pos. 4 and Pos. 9

65012204 Lenscap CP-SM clear
65012203 Lenscap CP-SM red

65012219 Pl. Legend CP-SM "Play 1 Line"
65012220 Pl. Legend CP-SM "Play 2 Lines"
65012221 Pl. Legend CP-SM "Play 3 Lines"
65012222 Pl. Legend CP-SM "Play 4 Lines"
65012223 Pl. Legend CP-SM "Play 5 Lines"
65012224 Pl. Legend CP-SM "Play 7 Lines"
65012225 Pl. Legend CP-SM "Play 9 Lines"
65012227 Pl. Legend CP-SM "Play 15 Lines"
65031316 Pl. Legend CP-SM "Play 21 Lines"

65031277 SP BP MECH_LED 12V white Sub. clear lens
65029377 Btn CP-SM wolCwoPIwLED A013317046E000

Quadratic Lens cap, clear
Quadratic Lens cap, red, for change button

65012212 PI. Legend CP-SM "Bet 1 Credit"
65012213 PI. Legend CP-SM "Bet 2 Credits"
65012214 PI. Legend CP-SM "Bet 3 Credits"
65012215 PI. Legend CP-SM "Bet 4 Credits"
65012216 PI. Legend CP-SM "Bet 5 Credits"
65012217 PI. Legend CP-SM "Bet 10 Credits"
65012210 PI. Legend CP-SM "Cash Out"
65012211 PI. Legend CP-SM "Info"
65012209 PI. Legend CP-SM "Change", red

Spare LED, included in Pos. 4 and Pos. 9
Quadratic button with LED and switch,
without lens cap and plastic legend

11

WBC Cashline™ / Parts Catalogue



<
Atronic

Great Games Great People

—_——

Coin ENTRY

[S2 N S @b B h S e

WO pic.

June 2006

SAP-No

65003571
65003572
65004500
65001348
65003579
65003580
65003581
65003582
65003583
65003584
65006214
65003585
65003586
65003587
65003601
65003602
65003603
65003604
65003605
65003606
65003607
65003608
65003609
65004748
65003610

65005680

Nomenclature

Coin Entry Housing Untreated

Coin Entry Backplate

Screw, Metal M4x10 DIN 965A Form H
Screw, Metal 4.2x9.5 DIN7981F

Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin
Coin

Coin entry block off plate WBC

Geometry - 19/1.6
Geometry - 19/2.3
Geometry - 20/1.6
Geometry - 20/2.3
Geometry - 21/2.0
Geometry - 21/2.4
Geometry - 21/3.2
Geometry - 22/1.6
Geometry - 22/2.4
Geometry - 23/1.6
Geometry - 23/2.4
Geometry - 24/1.6
Geometry - 24/2.3
Geometry - 24/3.6
Geometry - 25/2.4
Geometry - 25/3.3
Geometry - 26/1.6
Geometry - 26/2.2
Geometry - 26/3.2
Geometry - 26/3.6
Geometry - 27/2.4

SAP-No

65003610
65003611
65003612
65003613
65003614
65003615
65003616
65003617
65003618
65003619
65003620
65003621
65005084
65003622
65003623
65003624
65003625
65003626
65003627
65003628
65007451

Nomenclature

Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -
Coin Geometry -

27/2.4
27/3.2
28/2.4
28/3.1
28/3.8
29/2.4
29/3.2
30/2.4
30/3.2
31/2.5
31/3.4
32/3.2
33/2.8
33/3.2
34/3.2
39/3.6
37/4.1
38/3.6
39/3.6
40/4.1
$5 US Token

12

WBC Cashline™ / Parts Catalogue



Atronic

Great Games Great People

—_——

COINPLATE

(7

—

L

F

!B

5

"Eﬂ

[—

ot

°o

POS SAP-No

65002191
65003814
65018338
65002190
65002930
65002055
65004037
65010914

ONOO O bh~wno —

June 2006

Nomenclature

Starter Lamp 4-22W 110V, 220V S2
Opto-Device #04

Solenoid WBC GS12V with C+D. f. MW 00
Lamp Fluoro TL-D 15W/33 438mm
Ratchet Clip WBC

Cable, Ribbon Backplane/Buttonboard

Cable Flexible, Lampsheet / Cointracking #04
Cable Ribbon, Buttonboard/Optodevice CL #01

Comment

with cable and diode

13

WBC Cashline™ / Parts Catalogue



/
At

ronic

Great Games Great People

—‘ Top AssemBLy Sauare Top

Top Assembly 16,2" Square Top with 3" Top Insert

16,2" Top

>

16,2"/410 mm

<

O wWwooNoOoU N

1

11
12
13
14
19
16
17
18
18

20

June 2006

SAP-No

65025945
65025972
65025973

65025967
65025968

65006742
65010639
65029255

65001348
65001371
65011318
65011319
65010313
65005185
65010314
65002809
65002190
65024237
65024238
650021391
65041390
65002194
65042438
65001381

Nomenclature

ASP ST Upper Housing 4P01 #07
ASP ST Side part right 4G03 #06
ASP ST Side part right 4P06 #06

ASP ST Side part left 4G03 #07
ASP ST Side part left 4P06 #07

Loudspeaker 15W/4R TTP120-60C1
Cable Flexible, Soundbd - Loudspeaker 01
Loudspeaker Setup CL WBC

Screw, Metal 4.2x9.5 DIN 7981 F

Nut M4 SKT BN1365 Combi

Top Insert (Atronic) 3" Black WBC

Top Insert (Atronic) 3" BITw WBC

Plate printed (Plexi-Atronic colour) #01
Distance Sleeve Polyamide 4.1x6x4mm
Bracket, Top Glass #02

Lamp Fixture Panel #05 Square Top
Lamp Fluoro TL-D 15W/33 438mm

LH BJB G13 G13-26.422.5013.50-UL
LH BJB G13 G13-26.422.1113.50-UL
Starter Lamp 4-22W 110V, 220V 52
Ballast Coil TR 230V/50Hz 2x15W C501K #00
Ballast Coil 118 14-21 UL

Ballast Coil 120V/60Hz 18W BAM 00
Lockwasher M4 DIN6798A (BN781)

Comment

Topbox Square Top, Black, Current revision
Chrome
Black Twilight

Chrome
Black Twilight

1 pc. = 1 pair

Height 3", Black
Height 3", Black Twilight

Lamp fixture with starter socket
Lamp fixture

110V, 230V

230 V only

110 V only

110 V only

149

WBC Cashline™ / Parts Catalogue



/
At

ronic

Great Games Great People

—‘ Top AssemeLy Rounbp Top

Top Assembly 16,2" Round Top with 3" Top Insert

16,2 Top

16,2"/410 mm

<

ONO O bW -

21

June 2006

SAP-No

65030429
65006742
65010639
65029255

65001348
65001371
65030432
65030433

65011318
65011319
65010313
65005185
65011112
65002042
65008774
65003075
65002190
65024237
65024238
65002191
65041390
65002194
65042438
65001381

Nomenclature

Upper Housing welded RT - WBC #09
Loudspeaker 15W/4R TTP120-60C1
Cable Flexible, Soundbd - Loudspeaker 01
Loudspeaker Setup CL WBC

Screw, Metal 4.2x9.5 DIN 7981 F
Nut M4 SKT BN 1365 Combi

Frame welded chrome RT - WBC #05
Frame welded BITw RT - WBC #05

Top Insert (Atronic) 3" Black WBC

Top Insert (Atronic) 3" BITw WBC

Plate printed (Plexi-Atronic colour) #01
Distance Sleeve Polyamide 4.1x6x4mm
Lower Bracket Top Glass Round Top #01
Nut M3 Self Locking

Foam Cushion

Lamp Fixture Panel Round Top #01
Lamp Fluoro TL-D 15W/33 438mm

LH BJB G13 G13-26.422.5013.50-UL
LH BJB G13 G13-26.422.1113.50-UL
Starter Lamp 4-22W 110V, 220V S2

Ballast Coil TR 230V/50Hz 2x15W C501K #00

Ballast Coil 118 14-21 UL
Ballast Coil 120V/60Hz 18W BAM 00
Lockwasher M4 DIN6798A (BN781)

Comment
Topbox Round Top, black,

1 pc. = 1 pair

Chrome
Black Twilight

Height 3", Black
Height 3", Black Twilight

Lamp fixture with starter socket
Lamp fixture

110V, 230V

230 V only

110 V only

110 V only

15

WBC Cashline™ / Parts Catalogue



/
At

ronic

Great Games Great People

—‘ Top AssemsLy Low Top

Top Assembly 11,2" Low Top with 3" Top Insert

11,2" Top

>

11,2"/285 mm

<
<

OWooNoOo

10
11
12
13
14
19
16
17
18

18

June 2006

SAP-No

65027268
65027321
65027322

65027292
65027293

65006742
65029255

65001348
65001371
65011318
65011319
65010313
65005185
65010314
65004237
65002190
65024237
65024238
650021391
65041390
65002194
65042438
65001381

Nomenclature

Upper housing welded LT - WBC #03
Side part right welded chrome LT - WBC #03
Side part right welded BITw LT - WBC #03

Side part left welded chrome LT - WBC #03
Side part left welded BlTw LT - WBC #03

Loudspeaker 15W/4R TTP120-60C1
Loudspeaker Setup CL WBC

Screw, Metal 4.2x9.5 DIN 7981 F

Nut M4 SKT BN1365 Combi

Top Insert (Atronic) 3" Black WBC

Top Insert (Atronic) 3" BITw WBC

Plate printed (Plexi-Atronic colour) #01
Distance Sleeve Polyamide 4.1x6x4mm
Bracket, Top Glass #02

Lamp Fixture Panel - LT #02

Lamp Fluoro TL-D 15W/33 438mm

LH BJB G13 G13-26.422.5013.50-UL
LH BJB G13 G13-26.422.1113.50-UL
Starter Lamp 4-22W 110V, 220V 52
Ballast Coil TR 230V/50Hz 2x15W C501K #00
Ballast Coil 118 14-21 UL

Ballast Coil 120V/60Hz 18W BAM 00
Lockwasher M4 DIN6798A (BN781)

Comment

Topbox Low Top, black
Chrome
Black Twilight

Chrome
Black Twilight

1 pc. = 1 pair

Height 3", Black
Height 3", Black Twilight

Lamp fixture with starter socket
Lamp fixture

110V, 220 V

230 V only

110 V only

110 V only

16

WBC Cashline™ / Parts Catalogue



&) I
'ronlc ﬁ ONLlNE BRACKETS
Great Games Great People

POS  SAP-No
1 65007960
2 65007992
3 65007963

Nomenclature Comment

3/4" Top Distance wel. Video-sg. bl. #01 Optional distance piece to mount 3" brackets to an
older top assembly that uses 2.5" brackets

Screw, Metal 4.2 x 32 DIN 7981 F

Bushing, Distance 3/4"

(POS 1-3 are used to mount 3" brackets to older 15,4" Square/Round Top and 10,4" Low Top. Not necessary for recent top assemblies.)

4 65011318
65011319

9

6

Top Insert (Atronic) 3" Black WBC Height 3", Black

Top Insert (Atronic) 3" BITw WBC Height 3", Black Twilight

Outer Bracket for PT-Systems SAP-No. depends on applied systems
Inner Bracket for PT-Systems SAP-No. depends on applied systems

(Online brackets are available for various online systems. Please contact Atronic Technical Service)

June 2006

WBC Cashline™ / Parts Catalogue



WA
s
2
/ZTA;\-“\

Atronic

Great Games Great People

—_———

TOPLIGHT

o

dﬂ

¥

June 2006

SAP-No

65006535
65003702
65002835
65005367
65005543
65006434
65006235
65005619
65002497
65005863

65006725

65003333

65003355

Nomenclature

Color: Top/Mid / Bottom

Toplight Blue / Yel / Red
Toplight Grn/ Red / Yel
Toplight Grn/ Yel / Red
Toplight Grn / Whi/ Red

Toplight Red / Blue / Whi

Toplight Red / Grn / Blue

Toplight Red / Whi / Blue

Toplight Red / Yel / Blue
Toplight Red / Yel / Grn
Toplight Yel / Red / Blue

Candle Baseplate LT, black
Adapter Toplight Round Top, black

Toplight Adapter #02 Black

for Low Top
for Round Top

for Square Top

65002494
65002542
65002493
65009020
65002451
65004125
65005758
65002450
65003963
65002501
65002429
65006654
65006646
65002495

Nomenclature

Color: Top/Bottom
Toplight Blue / Blue
Toplight Blue / Whi
Toplight Grn/ Grn
Toplight Grn / Whi
Toplight Red / Red
Toplight Red / Whi
Toplight Red / Yel
Toplight Whi / Blue
Toplight Whi/ Grn
Toplight Whi / Red
Toplight Whi / Yel
Toplight Yel / Blue
Toplight Yel / Whi
Toplight Yel / Yel

18

WBC Cashline™ / Parts Catalogue



<
Atronic

Great Games Great People

—_——

SUZ0O HoPPER

[dalNceBR NNepid)]

June 2006

SAP-No

65010806
65001202
65001203
65001201
65010242

65005566
65005565
65005567
65005572
65005575
65005576
65005577
65005155
65010070

65005579

65004568

Nomenclature

Wiper

Pin Wheel, 12 Pin
Pin Wheel, 15 Pin
Pin Wheel, 16 Pin
Spring Liner

Shelf Wheel
Shelf Wheel
Shelf Wheel
Shelf Wheel
Shelf Wheel
Shelf Wheel
Shelf Wheel
Shelf Wheel
Shelf Wheel
Shelf Wheel
Shelf Wheel

Agitator

Spring

Spring

Scoop Extended

Hopper Cup 2 pcs. standard

Suzo Part No.

17-0070
Suzo No.: 14-0112
Suzo No.: 14-0115
Suzo No.: 14-0116
14-0140

14-130-1505 / Coin diameter 18.0 -
14-130-1465 / Coin diameter 19.0 -
-22.0
-24.8
14-130-1350 / Coin diameter 24.9 -
14-130-1310 / Coin diameter 25.9 -
14-130-1235 / Coin diameter 27.9 -
14-130-1205 / Coin diameter 32.0 -
-35.0
-36.9
14-130-1075 / Coin diameter 37.0 -

14-130-1425 / Coin diameter 20.1
14-130-1370 / Coin diameter 22.1

14-130-1165 / Coin diameter 33.1
14-130-1125 / Coin diameter 35.1

14-0570
14-0365
14-0345
14-0880
14-0720

Position 10 - 20 on next page

18.9
20.0

25.8
27.8
319
33.0

38.0

19

WBC Cashline™ / Parts Catalogue



<
Atronic

Great Games Great People

—_——

SUZ0O HoPPER

POS  SAP-No
10 00000000
" 00000000
12 65010801
13 65010799
14 65005219
15
16
17 65004601
18
19
20

June 2006

Nomenclature

Mb5x25 Screw

M5 ext. star Lockwasher

Spring Mount

Spring

Microswitch with Arm, Cherry E1300H

Outlet Cover
Outlet Cover
Outlet Cover
Hopper Knife
Hopper Knife
Hopper Knife

Coin Deflector

Motor 24 V DC
Motor 24 V DC

Spring Rock and Roller Assy
Spring Rock and Roller Assy

Rock and Roller Assy

Suzo Part No.

150-025-220
1051-040
14-0440
14-0330
22-0715

14-0065 / Coin diameter 18.0 - 27.8
14-0066 / Coin diameter 27.9 - 33.0
14-0067 / Coin diameter 33.1 - 38.0
14-0290 / Coin diameter 18.0 - 18.9
14-0280 / Coin diameter 19.0 - 33.0
14-0295 / Coin diameter 33.1 - 38.0
14-0095

14-0370 / Coin diameter 18.0 - 33.0
14-0340 / Coin diameter 33.1 - 38.0

14-0370 / Coin diameter 18.0 - 33.0
14-0340 / Coin diameter 33.1 - 38.0

14-0455-1

WBC Cashline™ / Parts Catalogue



/ | (]
Atronic

Great Games Great People

POWER
SUPPLY

POWER ON
SWITCH m———
O O
ED Line
Filter
J1
POWERBOARD

0

J3 LJ

o

Ballast Coil

Top Lamp Fluoro

Belly Lamp Fluoro

Residual
Credits
Hopper

suzo
Hopper
+24V

Audit
Key Switch

I

Jackpot
Key Switch

[

Mechanic
Main Door Switch

)

Meterlights

I

=
=3
=
=

@n
=
H
S

a

TFT
Monitor

Touch
Controller

GRAPHICBOARD (J1

L

o J2

HOPPERBOARD (J1

0

P2

COUNTERBOARD B

L

Bill Door /
Door Switch

Bill Acceptor
GPT

I
Stacker Switch \

Top Light

14)

—
O
e

® -

—_——

J13|

J14

J15

J10

J22

=>J22

® O

June 2006

=>J22
Bill Acceptor PZFH
Jem @ P1 Aa’c":' P3
aptor
l D Board
Stacker Switch \

)

fe D O

BACKPLANE

0

U19

J20

Wirine DiAGRAM

COMMBOARD

o

Pxx
D Online System

SOUNDBOARD

0

" @

@ (optional)

@ -

LS left ext.

LS Left int.

LS right int.

LS right ext.

Logic Door
Switch

MASTERBOARD |,
o D PC-Setup (RS232)
“ BUTTON PANEL
BUTTONBOARD
- =
o - S
@ e
@ oo
J7 oo
'7( oo
|
D,,,,J —J
J2 COIN DIVERTER

RN 24)

Coin
Acceptor
CC-16
MC-16

J3 @

Coin
Acceptor
G-13

OPTO DEVICE
first

)

OPTO DEVICE
second

o

J6 @

Voucher
Printer

OPTO DEVICE
to Drop Box

L

0

OPTO DEVICE
to Hopper

21

WBC Cashline™ / Parts Catalogue



<
Atronic

Great Games Great People

Cable
POS SAP-No
1 65011515
65038594
2 65005734
3 65007423
4 65026348
5 65042667
6 65002176
7 65004037
8 65038975
8b 65010635
9 65004679
10 65003060
11 65003059
12 65025763
13 65003132
14 65007957
15 65014676
16 65005214
17 65007524
18 65008967
19 65010689
20 65010639
21
22 -
23 65002055
24 65003373
25 65019832
26 65010914
27 65036512
Boards
POS SAP-No
A 65025962
B 65023540
C 65032446
65027466
D 65010394
E 65008801
F 65006074
65033949
G 65023743
H 65025198
| 65038972
J 65021572
K 65003814
June 2006

Nomenclature

Cable Power, for Line Filter 230V, 3.5m
Cable Power, for Line Filter 115V (UL), 3.5m
Cable Power, PowerSupply / Powerboard CL 02
Cable Power, Powerboard / Monitor - UL 04
Cable Flex. VGA, M/M 2m shielded ALTEC 02
Cable Harness, Backplane / Touch Power
Cable Power, Powerboard / Top Box Lighting
Cable Flexible, Lampsheet / Cointracking 04
Cable Shielded, MMPC Board / Touch

Cable Ribbon, Graphichoard / Touchcontroller
Cable Harness, Hopperboard / Hopper 01
Cable Ribbon, Backplane / Hopper Board 02

Cable Ribbon, Backplane / Counterboard 03

Cable Harness, Ctrbrd / Key1 / Doorsw.-WBC 01

Cable Flexible, Backplane / Toplight 4 pin

Cable Dropdoor Switch IBS

Cable IBS - G3 Argus

Harness IBS Acceptor (Video)

Cable Ribbon, Bkplane / JCM-Adapter 01
Cable Flexible, JCM Acceptor WBA #01

Cable Power Supply JCM Atranic Int. 03
Cable Flexible, Soundbd - Loudspeaker 01

optional

Cable Buttonboard / Button Panel

Cable Ribbon, Backplane / BtnBd WBC 03
Cable Harness, CC-16 / BtnBd 02

Cable Coin Acceptor NRI-G13 Standard #02
Cable Ribbon, Btnbrd / Optodevice CL 01
Cable Harness Backplane - Ticket Printer #01

Nomenclature

PCBA Backplane CL STD #21 r02
PCBA Powerboard CL STD #30 r01
PCBA Graphicboard CL STD #41 r05
PCBA Graphicboard CL STD #25
PCBA Hopperboard DCDC CL STD #20 r02
Counter Impulse Assy #03

Board Adapter JCM

PCBA JCM-Adapter CL STD #01
PCBA Commboard 68K 2.10 r08
PCBA Soundboard CL STD #22 r03
PCBA Master Board CL STD #31 r02
PCBA Buttonboard CL STD #24 r01
PCBA Optopdevice CL STD #04 r02

e —

CaBLE & BoARDSs

Comment

230V Euro plug version
115V (UD) plug version

Included in 65042697 ASP MD TFT Kit 17" E8

Included in 65042697 ASP MD TFT Kit 17" E8

Use with GPT® Argus™ (G3) acceptors
Use with GPT® acceptors
Use with JCM® acceptors
Use with JOM® acceptors
Use with JOM® acceptors

Not used in standard configuration
Cable is part of the button panel assembly

Use with CC-16, MC-16 coin acceptors
Use with NRI-G13 coin acceptors

Comment

Graphicboard with Geode ™ GPU
Graphicboard with Texas Instruments® GPU

Hardmeters assembly incl. bracket
Use with JCM-WBA type acceptors

Use with JCM-WBA/EBA type acceptors, revision #01

(optional)

WBC Cashline™ / Parts Catalogue



	Parts Catalogue WBC Upright Cabinet with TFT Monitor
	CONTENT
	CABINET
	LOGICBOX
	POWER SUPPLY

	MAINDOOR
	BILLDOOR GPT
	Accessories for GPT Acceptors

	BILLDOOR JCM
	Accessories for JCM Acceptors

	BUTTONS
	COIN ENTRY
	COINPLATE

	TOP ASSEMBLY
	SQUARE TOP
	ROUND TOP
	LOW TOP
	ONLINE BRACKETS
	TOPLIGHT

	HOPPER
	WIRING DIAGRAM
	CABLE
	BOARDS


